


The Necklace Comprehension Check
Why is Madame Loisel unhappy with her life at the beginning of the story?
Madame Loisel is unhappy with her life at the beginning of the story because _______________________________________________________________________________________________________________________________________________________________________  .
Why does Madame Loisel borrow a necklace from Madame Forestier?
Madame Loisel borrowed a necklace from Madame Forestier because ________________________________________________________________________________________________________________________________________________________________________  .
Why do the Loisels live like paupers for ten years?
The Loisels lived live like paupers for ten years because
________________________________________________________________________________________________________________________________________________________________________ .
Answer Bank
she thinks she needs fancy jewels to be properly dressed for the party.
she enjoys simple things.
to repay the debt they incurred in replacing the lost necklace.
she is happy with the way her life is going.
she wants more money, more excitement, and a better social position.
they decided to live in a tent.
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